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KERIARERBER—IRELHFEXNEE, BE5IRE L AETIHA. Reissner'™
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BB K, NREROBAFRL. Ex, PEBZREDEREFREHAVHARLTITHE
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45—t BRe, RIWHBHGRERAR. ATHERL ANEANEIERSS
R 4IFRER. KAXRUIFAHRLSE, DNEHXEIRHE LN EEEw MER
B2y 0., BT W REI KRB ET B A:

d 1 d dw 1

rdw_'_

Ddr o dr dr (2?1;.2, jr %—;f—(ra,,%)—ﬂa,ow—qu=0
(2.1
G et () =
B DE BRI TSR, 7
D Eths (2.2)

2(1—%)
JERBTEA (2.1) B4 RETHEF S A B R &4 T R
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1. [HzZE:
Wr=ghf, w=0, pv=0, u=0; }
Lr=08, v=0, o, BR.
2. WEEE,
Yr=al}, w=0, Pp=0, 0,,=0; }
Yr=00f, =0, 0., FR.
3. WX
Yre=aff, w=0, M.=0, 0,= 0, }
Yr=08, v=0, 0., FR.
4. BX:
Yr=of}f, w=0, M. =0, u=0; }
Yr=0K, =0, 0., FR.
X, s BRRERKRPE LANERANE o2 ZEARTEELKERRFEANES, M2
KERARKBMEE, 0,02%E RN RS,

(2.3)
(2.4)
(2.5)

(2.6)

’ :
u=T(0,o-—v0,o) W

v=— 2t o dw _dw  gr
GLh, ¢ dr dr 2G,h, F

(2,7a,b,c,d)

O',D=—d—(r0',u)
d

B, BEKEFTERHAC. DMEREE (2.3)—(2.6) BILALEMNER. A, &N
SIATIRFS:

r o dW
o= P W=r\/2(l—v§)'To" d)=—a';—
__ata® __aad __ D -
S.= 5O Sg—-*——D—a,n, k= G (2.8)
~2(1—v) o
P=""00
MAXxEFSmRQ.DUE, FBRHAC. DL
Lio(kS +1)¢]—S.¢—Pp=0 .
g2 2.9
L(p*S,) +—2— =0
e,
WRL&M(2.3)—(2.6)1kh
1. [EE.
% p=11f, W=0, (kS +Dd+EP=0, —= (pS)=»S.=0;
P (2.10)

4 p=0if, (kS +1)¢=0, S.HFMH.



REW KB F O 1

2. BEHEE.
W p=18, W=0, (kS.+1)¢+kP=0, S,=0, }
Y o=0"f, (kS.+1)d¢=0, S.HMR.

3. f\X:

(2.11)

Y po=1K, W=, j%[(k&ﬂ)qﬂ]+v(kS,+1)¢+k(1+V)P=o, S.=0;

- Mp=0Rf, (kS.+1)4=0, S.HR.
4. BX:

% p=1 B, W=0, - [(AS, +1)¢1+5(ES,+1)+(1+5) P=0

} (2.12)

d_ —S. = g (2.13;
a0 (pS.)—»S.=0

Ho=00, (RS, +1)¢=0, S HR.
Hp |

1
L()= dp pz dp() (2.14)

HTSfd, REBIAFAFNEAMUBNITELAR. TRAFMBES S, BHR(2.7d)R
B. BHod, HERIe=INMIRFEN =0, WIAZERANREN. TR, §.

d
S9='JFT(pS,) }

o (2.15)
W==L¢dp

=. ARRMTTHERE

RRTRE T, RITRE LREREFREMAREGOBRE. BE S 6 55
%p%ﬁﬂ’@ﬁfﬂ}iﬂﬁ'éﬂﬁ, ERBEBETR, 7

S“Z(Izp ]
(3.13.)!))
=sz-+|pﬁ“ I
CBHig, by (=0, 1, 2, ) BETHEK. SR, XEEMEHE IR b
DR,
BRE.DKAR(2.15), F
So—Z(zz+1)a2p ]
(3.2a,b)

—_ it 110 S G+l .
W= sarn P 1] J



14 Xt AR wm = & ' .
XU, MRME T HE gy 70 bp.41(i=0,1,2,--), MZERRFAEN HABREERE.
HRE (3.1) RAFR (2.9), HEBRIHRE (2.9) BRNEM o EEKIL, FREM
?%EIJT'%'#C ay, F1 bzr+| Zlé]ﬁggégft:

-1
ﬁgbhﬂbzt-zm—u =1, 2, 3, e

Qy; = —

1 1 : .
- bun= kay+1 [41(:+1) Zagmbz« -y k}:‘:azmbz zmﬂ] i=2, 3, 4, - r (3.3)

bs-m[(ao_skaz)bx'l‘l:] J
HILEE, RENET o f1 b, BE, HTEHRETLUKKHE. XHE—X, RINVETAR
% (3.1a) 1 (3.2) ARERBTA LN S., S, MW BE.

NTHEEK o b, RNBEXANEESMHAREGERNRALTHHEN & #F %it
(3.1) RAREAN DR &4, EEHETHRERS o b KIS HRBA,

1. XTEZE

E (2i+1—7)a, =90
: , ? (3.4
2 ( kg"“”z--imﬁbzm)+kP=o |

2. XTRHEE
S o=0 v
°° ' } (3.5)
Z.,( kga”b;"z’"“*‘bz-ﬂ)+kP=0 | .

3. HFEX
- (3.6)
§(2i+1+v)( kgamb,,_mﬂ_,_bz‘“ )kt Pt J

4 WTRX
_E:(Zi+1-v)a2,.=o

- (3.7)

oo .
Z(2i+1+”)< kzam 21 2m+1+bii+l )+k(1+”)P =0

i=0 m=0



e P2 R A K58 T L AR T R 15

ERFGR, TREXEHFBAXT oMb WEEME. NTRAENH R Lr. BRN
RIE2H k MERNBA RS PEE, AXRA G X%k B o, 716, B 70 1415,
ORI A, 0 P=P, FFlh, XNT4 o F1 b, HAHERE. RELEH S RA,
FHREP=P,BRT o Wb MEER. RE, T +HEETF P, HNE —BHF E X,
TOERKRIA B B b BRI RE . TR, RBEET P& B A BIAKM
Fr, MEEZETLCHEBEMMRKAH o, MO WHEHBE. ATREUSH HE, EHTa
b ITMGEN, ERBEEERREERN. &, FRFEANFFHEREFEBREKRK.

7E DIS-8 Ml LR T KK BETH, SRATELRL .

THERH, F¥(3.1) WRIE. 4 A<0.01H, RITLH WMELHH _+HET A S
BIRBHEANSR. BB LENYA, RBKSEHER, FHtREH LT BRI R
8L, Yk=0.100, XBEREELEP/N\TI.

BZRR(3.2b), FIHBTARTLENDLEEWV HLK.:

[e o)
by 4
W0=W|p-o=—§‘2"@-2_,_—ll) (3.8)
*ila B E X EE R a F b, B{E v=0.3
ko= 0 0.01 0.05 0.10
P " ae by ag by ap by ag b,

5 0.047429 —0.,62302 | 0,061064 —0,67170 0.13751 —~0.85953 0.27434 —1.0895
10 0.18696 —1,2345 0.23905 —1.3245 0.51388 —~1.6389 0.93262 —1.9088
16 0.41099 —1.8245 0.520086 -1.9431 1.0526 —2,3021 1.7441 —2.6211
20 0.70863 —2.3856 0.885565 —-2.5181 1.6844 ' —~2.8526 2.5953 —2.9802
25 1.0676 —2.9133 1.3164 —3.0456 2.3631 -3,3095 3.4438 —3§.3412
30 1.4759 —3.4058 1.7955 —3.5259 3.0621 —3.6930 4,2754 —3.6373
35 1.8226 —3.8631 2.3088 —3.9616 3,7665 —4,0198 '5,0853 ~3.5883
40 2.3984 —4,2865 2.8456 —4,35667 44682 —4,3025 5.8730 —4.1066
45 | 2.8958 —4.6781 3.3976 —4.7155 5.1628 —~4.56508 6.6393 —4,3004
50 3.4085 —5.0405 3.9590 —5,0421 5.8484 —4. 7711 7.3856 —4,47561
65 3.9320 —5,3760 4.5254 —5. 3405 6.5236 —~4.9694 8.1133 —4.8345
60 4.4624 —5.6872 5. 0937 —5,6140 7.1881 —~5,1494 8.8238 —4.7818
65 4,9970 —5.9764 5.6615 —5, 8658 7.8420 -5.3142 9.5184 —4.9183
70 5.5335 —6.2467 6.2274 —6.0983 8.4854 —~5.4663 10,198 —5.0463
16 6.0704 —6.4971 6.7902 —6,3138 9.1187 —5b,6075 10.864 —5.1668
80 6.6062 —6.7322 7.2490 —6,5142 9.7423 —~5.7395 11.518 ~5.2809
86 7.1401 —6.9527 7.9035 —6.7013 10. 356 —~5.8633 12,160 -5.3893
80 7.6T14 —17.15698 8.4532 —6.8765 10.962 ~5.9801 12.790 —5.4927
95 8.1995 —17.3548 8.9978 —T7.0410 11.558 —-6.0907 13.410 ! —6.5916

100 | 8.7240 | —7.5390 | 9.5374 ~7.1058 | 12147 | —6.1958 | 14.021 | —5.6865




5 X A 20 w = F

F®1b BENE B EE R a0 F0 by H9E

k= 0 . 0.0t 0.05 ' 0.10

P a9 by a3y by ay by a9 b,
5 | 0.024367 | —0.62422 | 0.029881 | —0.67372 | 0.057756 | —0.86049 |  0.10526 | -—1.1058
10 | 0,006910 | —1.2438 | 0.11841 —1.3399 | 0.22521 —1.7076 0.39513 | —2.1112
15 | 0.21601 —1.8543 | 0.26282 —1.9816 | 0.48712 —2.4904 0.81323 | —2.9688 -
20 | 0,37911 —2.4519 | 0.45873 —2.6230 | 0.82373 —3, 2047 1.3062 | —3.6813
25 | 0,58296 —3.0332 | 0.70077 —2.2295 | 1.2155 —3.8472 1.8372 | —4.2724
30 | 0.82382 —3.5957 | 0.9830% —3.8081 | 1.6457 —4.4209 2.3842 | —4.7684
35 | 1.0977 —4.1373 | 1.2097 —4.3569° | 2.1013 —4.9323 2.9343 | —5.1909
40 | 1.4008 —4.6569 | 1.5449 —4.8753 | 2.5726 —5.3888 3.4826 | —b5.5568
45 | 1.7286 ~5.1537 | 2.0136 —5.3635 | 3.06528 —5.7980 40236 | —5.8784
50 | 2.07T80 —~5.6278 | 2.4D12 —5.822¢ | 3.5370 | —6.1666 4.5562 | —6.1647
55 | 2.4454 —6.0792 | 2.8036 —6.2533 | 4.0219 —8.5004 5.0796 | —6.4228
60 | 2.8219 —6.5086 | 3.2175 —6.6577 | 4.5052 —6.8045 5.5936 | —6.6578
A5 | 38,2226 —6.91656 | 3.6401 —7.0372 | 4.9853 —7.0829 £.0083 | —6.8732
0 | 3.62T4 —7.3042 | 4.0690 —7.3937 | 5.4613 —7.3393 6.5939 | —7.0726
75 | 4.0400 ~7.6723 | 4.5022 —7.7288 | 5.9325 —1.5765 7.0808 | —T7.2583
80 | 4.4588 —~8.0219 | 4.9381 —8.0442 | 6.3985 —~7.7969 7.5594 | —7.4322
85 | 4.8823 —~8.3541 | 5.375% —8.3412 | 6.8590 —8§.0028 8.0300 | —7.5959
90 | 5.3091 —8.6699 | 5.8134 —8.6215 | 7.3141 ~8.1957 8.4932 | —7.7506
9 | 5.7382 —8.9702 | 6.2509 —8.8865 | T.7636 —8.377T3 8.9491 ~7 8974
. 100 | 6.1686 ~9.2560 | 6.6872 —9.1368 | 8.2078 —8.5486 9.3987  --8.0373

Ric HSTRERE BN a 1 b, pE v=0.3

0 0.01 ] 0.05 0.10

P ay by ag i b, a b, ag ! by
5 0.22980 | —1.5457 0.24501 | —1.5874 D.30821 | —1.7448 0.39023 | —1.9171
10 0.82268 | —2.894D 0.86536 | —2.9444 1.0281 | —3.1094 1.2096 —3., 2477
15 1.6072 | —3.9899 1.8682 —4,0208 1.8854 | —4.0991 2.1045 —4.1316
20 2.4650 | —4.8684 2.5310 —4.8674 2.7564 | —4.8337 2.9726 —4.7642
25 3.3365 | —5,5807 3.3974 —5.5448 3.6015 | —5.4034 3.7950 —5.2502
30 4.1956 | —6,1686 4.2446 ~6,0994 4.4106 | —5,8631 4,5727 —5,6440
35 5.0314 | —6.6628 5,0645 —6.5633 5.1835 | —6.,2463 £.310R —5.97656
40 5.8403 | —7.0850 5,8549 ~6.9588 5.9227 | —6.5742 6.0139 —6.2627
45 6.6217 | —17.4510 6.6167 —17.3015 6.6314 | —6.8606 6. 6871 —~8,5167
50 7.8786 | —T7.7721 7.3512 —7.6026 7.3129 | —7.1149 7.3841 —6.7452
56 8.1064 | —8.0668 8. 0607 —1.8703 T.9700 | —7.3439 7.9580 —6.9535
80 8.8129 | —8.3117T 8.T4€9 —8.1108 8.6052 | —T7.5524 8.5614 —17.1453
85 9.497T | —8.5417 9.4119 —8.3287 9.2206 | —7.7440 9.1465 —17.3234
70 10.163 —8.7608 | 16,057 —8.5278 9.8182 | —71.9215 9.7152 ~7.4900
5 10.809 —8.9420 | 10.685 —8.7109 10,400 —8.0870 | 10.269 —7.6468
80 11.438 —90.1179 | 11.296 —8.8803 10. 966 —8.2424 | 10.809 —7.7950
85 12,051 —9.2806 | 11.891 —9,0378 11.519 —8.3888 | 11.337 —17.9358
90 12.649 ~9.4318 | 12.472 —9.1851 12.059 —8.5276 | 11.853 ~8.0701
95 13.234 ~9,5729 | 13.041 ~9.3234 12.588 —8.5694 | 12,359 —8.1985
100 13.806 ~9.7050 | 13.596 —9.4538 13.106 ~8.7852 | 12.855 ~8.3217




 REESR KD BT R B o

el BXKERRR a0 f b, #9415 v=0.3
k= 0 | 0.01 0.0 0.10

Pl [ by g dg i by j ag 1 by a9 i by

5 | 0.50428| —1.4118 | 062887 | —1.4369 | 0.76283 | —1.5222 |  0.81571 | —1.6006
10 | 18835 | —2.3878 . 1.7T457 | —2.3479 | 1.9683 | —2.3723 | R.1964 | ~-2.3828
15 2.7960 | —2.8666 '  2.8693 | —2.9565 | 9.1223 | —2.952 |  ©.3T80  —2.8712
20| 3.8519 | —5.4356 | 39328 | 34072 | 41%41 | —aazs | adsm | —3.2302
25 | 4.8811 | —3.808¢ |  4.9352 | —3.7646 | 5.1956 | —3.6216 |  6.4564 | —3.5178
30 . 5.8128 | —4.1178 |  5.8844 | —4.0810 | 6.1395 | —3.8901 |  6.30% | —3.7600
35 | 6.7100 | —4.3824 | 6.7852 | —4.3145 | T.086T | —4.1162 | 7.2045 | —3.8707
40 T.588T | —4.6137 | 7.6532 | —4.5365 | T.8940  -4.3188 |  §.1482 | —4.1584
45 84242 | —481M4 | B.4B4T | —47343 | B.TUTE | —4.495 | 5.0T01 | —4.3283
50 | 9.2305 | —5.0048 | 0.2870 | —4.9128 | 9.5120 | —4.6583 | 9.T618 | —4.484]
65 | 10.011 | —5.1736 ; 10.063 | —5.0060 | :0.281 | —4.8086 | 10.528 | —4.6284
60 | :0.768 | —5.3281 . 10817 | —5.2264 | 11.021 | —4.9481 | 11211 | —4.7630
65 | 11.505 | —6.4730 | (1.550 | —5.3660 | 11.753 . | —5.0785 | 11.995 | —4.8896
0 | 12,203 | —5.6071 | 12.264 | —5.4965 | 12.460 | —5.2012 | 12.700 | ~5.0001
5 | 12924 | —5.7328 | 12,962 | —5.6101 | i3.15i | —5.3(73 | 13.388 | —5.1226
B0 | 13.608 | —5.8513 | 13.644 | —5.7348 | 3.821 | —5.4204 | 14.0683 | —5.2305
85 | 14.280 | —5.9633 | 14.312 | —5.8446 | 14.489 | —5.5324 | 14.723 | —5.3387
9 | 14.938 | —6.0695 | 14.966 | —5.9490 | 15138 | —5.6328 | 15.370 | —b.4327
9 | 15.583 | —6.1709 | 15,608 | —6.0486 | 15.775 | —5.7281 | 16.005 | —5.5218
100 | 16.217 | —6.2676 | 16.240 | —6.1440 | 16.401 | —5.8216 | 16.620 | —5.8195

WMEOR F E R RO RS R S, BBt U &8 (3.10)F0(3.2a) . HEERA:
Sv(0)=SrlP=u=ao

S6(0) =S8l pas=a,

S.(D)=S.|p1=D_0a, , (3.9

i=p

Se(1)=Selp-, =3 (2i+a,
Haiﬂﬁ%#(z.llﬁﬂ(z.lz)ﬂﬁl, ERHEEMEXFARLRBRT, RERKNTE
Mp Gy AS (DEETE.
BJg, BAKRERROFERRHRIHELEREERL 2, 3, 4.

M, i i

o S 0 R T T RAE T SR IAIAR A BB P SR AR . R R RO 0 B AR
o AR B R ML S S IR T X — BRI A B R B A TR BT SOt
[ 4 JHRBT R EOMRNTIRE S BT, DA A S B DUAR R B, RO B ARE 0 25 3 R
XM AR 2 . HRBRL, SR 4 TR RO ETEILR 5. A,
FA 14 B TR 2 F1 3 2R SRESRARSKEMR. BET:
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10%. XEH, H¥RBEEAROAEEAETS, GERREVELHT BRI HER
WO ZUGED), BEEE BT LR ‘

il NRERESMT AX—B4MEHET I/, HHEH.
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o e 2 A K 6.7 1] R0 e i 21
Fia X [ 4] HBHFRS AERBHOLE
k=0
W, | 04653 | 1.0664 | 1.4587 | 1.0438 | 2.4123 R
& X |18 35 50 | 0 95 125 155 L 190
P, | 15.000 |35, no-r 50.036 | 70.144 | 95.455 |126.16 | 16T.21 | 124.08
p PV T =
GhE | 0 ~0.02 | -0.07 | -02 |-0.5 | -0.9 | -~15 —2.1
Py 15,000 |35.000 | 50.000 | 69.999 | 94.597 | 125.00 | 155.05 | 100.22
e =
GSE o 0 0 0.001 | 0.003 | © ~0.08 | —0.1
* X | 0.20601 | 10977 | 2.0780 | 3.6274 | 5.7382| 8.3184 | 10.842 | 13.867
5. S.2(® | 0.21800 | 1.0874 { 2.6761 | 3.6175| 5.7003 | 8.2074 | 10.607 |° 13.221
U e ‘ |
S5% | 005 | o0.03 0.09 0.3 0.7 | 1.3 2.2 1.3
| |
& X —0.14458 |~ 074671 | ~i.4388 —2.5816 | —4.235 | —6.40T4 | —5.6920 | —ti.433
S Sea(1) |~D.14458 |—0.74686 | —1.4398 | —2.5871 | —4,2679 | —6.4810 | ~8.8638 | - 51197
PR R | |
(%) 0 0.02 0.07 0.2 [ 0.5 o200 3.2
.31 X[ 4] HBTRS K UERBALE
| k=0.01
W, | 0.53828 | 1.0475 | 1.5122 | 2.0600 | 2.5369 | 2.857u | 3.5085 | 3.9882
& |15 30 £ 85 86 105 135 165
] ! | [
4] P, ‘ 15.000 |30.011 | 45.065 | 65.301 | 85.812 | 106.67 | 138.66 | 171.52
P Ao -0.04 |-0.2 | -0 |-1.8 |~1.6 |-21 |-
(%) .l \
e | 15. 000 | 30.000 | 44.959 | 64.083 | 84.978 | 104.96 /130,35 | 165.08
A . -
A= | 0 o002 | 0.00 | 008 | 004 | 0.08 | -0.05
& )’c | 0.26282| 0.08307 | 2.0136 | 3.6401 | 5.37s6 | 1.1220 - a.6718 ]| 12121
i
Eacadl !
S,(0) 4] S, 2(D ! 0.26281 | 0.98261 | 2.0097 | 3.8175 | 5.3054 8.9652 9.31001 11.452
BANRE | 9004 | 0.05 0.2 0.6 .3 22 | 3.8 5.5
(%) : !
& X ~0.10661 |—0.14562 | —1.5693 | —2.9573 | —4.8570 | ~6.2900 ' —8.0467 | —11.924
J !
Si(1) Sea(1) |~0.19651 |=0.74588 | —1.5TIT | —2.8716 | —4.6068 | ~6.4120 | —9.3764 | —12.612
i[ 41 % ’ | h , i . |‘ . =
iiaz | 0 | 0.03 0.2 0.5 ti ol 1e | ose s
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29 X1 AW B = A
Fc X[ 4 INERBS AXBERBANLR
k=0.05
W, 0.55524 | 1.0734 | 1.5387 | 1.9528 | 2.4050 | 2.9646 | 3.5094 | 3.9866
* x |10 20 30 40 55 70 90 110
4] P, |10.00t |20.021 |30.118 |40.365 |56.135 |72.468 | 95.174 | 118.83
4 -
P RURE 0.0 |~0.1  |—0.4  |-0.8  |-21 =35 |-5.7 —8.1
1] Ps  110.000° |19.999 |29.995 |39.976 |54.907 |69.792 |89.663 | 109.79
iEg}%% 0 0.006 | 0.02 0.06 0.2 0.3 0.4 0.2
% % | 0.22521 | 0.82373 | 1.6457 | 2.5726 | 4.0219 | 5.4613 | 7.3141 | 9.0797
S.(0) 4] S.2(0) 0.22518 | 0.82238% ; 1.6353 2.5345 3.8874 5.1541 6.8730 8.0374
4] il
MURE | g g 0.2 0.6 1.5 3.3 5.6 8.8 11.5
(%)
* X |~0.22112 |—0.86149 |—1.8057 |—2.9717 |—5.0088 |—7.2875 |—10.588 |—14.110
Se(1) e Se2(1) |—0.22714 |—0.86263 |—1.8152 |—3.0088 |—5.1661 |—7.7083 |—11.687 |—16.364
: *E?%i%% 0.000 | 0.1 0.5 1.3 3.1 5.8 10.4 16.0
o X[ 4 INBARS X ERBROLER
k=0.10
W, 0.40275 | 1.1415 | 1.4640 | 2.0293 | 2.5084 | 2.9258 | 3.4893 | 3.941g
el P‘z 5.0002 | 15.034 20.113 30.515 41.332 | 52.807 70.370 | g9 093
P *Ez‘ﬂ;;i)i ~0.004 |-0.2 —0.6 | -1.7 |-33 |-52 |-83 |_114
4] Pf 5.0000 |14.998 | 19.993 | 20.040 | 39.853 | 49.738 | 64.732 | g a1y
WUBE | o 0.01 0.04 0.2 0.4 0.5 04 | 04
& X | 0.10526 | 0.81323 | 1.3062| 2.3843 | 3.4826| 4.5562 | 6.0083| 7 ss04
S.(0) S.2(0) | 0.10525 | 0.80991 | 1.2030 | 2.3118 | 3.2823 | 4.1650 | b5.3586| 6 5113
X4 e ——
RS X |-0.12922 |—1.0702 | —1.7990 | —3.5998 | —5.7209 | —8.0654 |—11.885 |—15 974
Sa(1) e Sea(1) |~0.12923 |—1.0740 | —1.8152 | —3.7065 | —6.0773 | ~8.9146 |—14.090 |—20 469
1 ENEE
% 0.008 | 0.4 0.9 3.0 6.2 1.5 18.6 28.1
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Exact Solution for Circular Sandwich Plate

with Large Deflection
Liu Ren-huai Shi Yun-fang

(Depariment of Modern Mechanics, University of Science
and Technology of China, Hefei, Anhui)

Abstract

This paper gives the exact solution of large deflection of circular sandwich plate
under the action of uniform lateral load by the method of power series, Making use of
this solution, we can judge the accuracy of Liu Ren-huai's'¥ ahalytic solution given by

means of the modified iteration method, This indicates that previous solution has very

satisfactory accuracy,



